BHARAT SCHOOL OF BANKING
COMPOUND INTEREST

Q1. Sonika invested an amount of 5800 for 2 years. At what rate of compound interest will she
get an amount of 594.5 at the end of two years?

(@) 5 p.c.p.a.

(b) 4 p.c.p.a.

(c) 6 p.c.p.a.

(d) 8 p.c.p.a.

(e) None of these

Q2. The compound interest earned by Suresh on a certain amount at the en %at
the rate of 8 p.c.p.a. was 1414.4. What was the total amount that Suresh end of
two years in the form of principal plus interest earned?

(a) 8500
(b)9914.4
(c)9014.4

(d) 8914.4

(e) None of these

(a) 2136.87
(b) 2306.81
(c) 2032.18
(d) 2132.87
(e) None of these

Q4. If the compound interast z&@; an amount of 14500 in two years is 4676.25, what is
? 5

the rate of interest p.efp.a:
(a) 11

(b)9

(c) 15

(d) 18

(e) None'ef t

Q twould be the compound interest accrued on an amount of 8000 at the rate of 15%
per a iMthree years?

(a) 4283

(b) 4051

(c) 4167

(d) 4325

(e) None of these
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Q6. What would be the compound interest accrued on an amount of 7850 at the rate of 14%
per annum in two years?

(a) 2351.86

(b) 2880.37

(c) 2518.22

(d) 2290.23

(e) 34013.95

Q7. What will be the compound interest accrued on an amount of 10000 @ annim in
two years if the interest is compounded half-yearly?

(a) 4400 \

(b) 4600

(c) 4641

(d) 4680

(e) None of these

Q8. What will be the difference between the simplegn and pound interest earned on
a sum of 985.00 at the rate of 14% per annum at the enthoftwo years?
(a) 16.408

(b) 14.214
() 18.218
(d) 17.405 Q

(e) None of these

Q9. The simple interest on a c
the compound interest onthe
(a) 24000
(b) 25000
(c) 26000

(d) 3000 w\
(e) 40000 y

tain Sum of money for 4 years at 4 per cent per annum exceeds
sage sum for 3 years at 5 per cent annum by 57. Find the sum.

Q1 oney at compound interest amounts in two years to 2809, and in three years
to Find the original sum.

(a) 2

(b) 210

(c) 2200

(d) 2500

(e) 3000



BHARAT SCHOOL OF BANKING
COMPOUND INTEREST

51. Ans.(a)
Sal.

594.5 = 5800 [(1 +ﬁ)2 - 1]

2
__ EBo4rb — AT
" saoo (1 + mu) 1

' 2
::-(1+m] = 1.1025
(100 +1)? = 11025
100+ r =105 X\

r=5%
52_Ans.(b)

Sol. Supposze principle is P
a2
#Cl = 141440 =P [(1 +0) 1]
1414.40 = P(1.664— 1)
oo lelad0 oo
0.1664
S50, Amount =P+ Cl = 8500+ 1414 40 =9514 .40 Q

S3. Ans.(d)

Sol. Cl = 7400 [(1 +2L

Sl \}\QQ\'

200
=2132.87

54 Ans.(c)

S
Sol. 4676.25 = 14500 [(1 + Fta) — 1]
2

S (1)

1= B s

L+ 565 = Sos

=r=15%

55 Ans.(c) .

sol. I = Bﬂﬂﬂl(l +100) — 1]

= 8000 [ o) - 1] = 4167

56. Ans.(3) 5 "

Sol. €1 = 7850 Hi ts) — 1] = 7850 [ Tm) - 1]

=7850(1.25956— 1) = 2351-86
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57 Ans.c)
Sol. R = 20% yearly = 10% half yearly
n =2 years = 4 half-yearly

104
cl=10000 [(1 +100) ~ 1] — 4641
58 Ans. (g
2 2
Sol. Required difference = P (%) — 9385 %)

Sol. Let the sum be x

196
=985 x —— = 19.306 %
55 Ans.(a) X\

x4 wd

Then, X% — 57 = x{(l +2) - 1} %
oo 126
Frimk i x[ﬂuuu}

4 _1261] _

Tk
5 a000

x =220 = 24000 &
19
L N

510, Ans.(d)

Sol. Difference in amounts = 2577.54 — 2809 = 168.54 '
) 168.54 % 100

Hence, rate of interest = s = 6%

Mow, for the original sum,
6 12
2809 = x 1+

2809 = x (E)E — 2500

V\J
N



